Best model for HELP J142209.018+531547.510 at z = 1.116 ¥2=1.39
OPTx2=1.06 IRy?=4.41 threshold (OPT IR)=16.93 [um]

102 E : Stellar attenuated
f o Stellar unattenuated
g —— Dust emission
10! E —— AGN emission
E = Model spectrum
1 ® Model fluxes
100 E [ oObserved fluxes
] WV Observed upper limits
>
21071 4
S
X _
5 1072 5
L ]
1073 E
1074 5
< ]
307> A
Y— 1 3
= ] ==f=(Obs-Mod)/Obs
3 ]
S
n
O o e e A el Ny e e e e e e e
o ]
g ]
5 ]
© -1 - T — 7 T T CIGALE
© 10° 10! 10?

103 104 10
Observed wavelength [um]



